N & 0 & g 9 A A
20219 = 204 UG H IS
& Hl
SiHe)
CEH SR (BH) - NBAY - B2 O 4t 0t il 2
438,105 408,493 29,612
330,157 309,393 20,764
56,500 54,100 2,400
XN&EH 29 56,500 54,100 2,400
82 AH| 33,100 30,700 2,400
S329H| 900 900 0
OFUNXHEH AN S22 900
HAF2 A HI 32,200 29,800 2,400
OFUNALE ZAISE
65,000& * 43| = 102 % » 123 31,200
OHF SN HEHZ2 AEE NE gsH| 1,000
AetE N2 21,000 21,000 0
SHALAIHI X2 1,000 1,000 0
OHISKHEHZ AEYE WS HAIAHEAS 1,000
JIEIE &3 20,000 20,000 0
OFOITI XISl 2 3l M 2y
30,000& = 25 * 12& 9,000
OFUXNXNLEH NSAMI(REH,248])
11,0003 * 49 » 250 11,000
XH&HF S HI 2,400 2,400 0
S AP 2,400 2,400 0
OFUXXHH A 7L
10,0003 * 20 = 12& 2,400
off 2~ 222,587 204,359 18,228
70,307 56,799 13,508
13,345 13,176 169
04 JI2ZtH 22 XNEE 13,345 13,176 169
OMNRIREX 2l 13,345
=2 69,760 * 1¥ x 1302 9,069
- 24l 5,000& = 19 * 130 650
=52 69,760 * 1H » 27 1,884
ez 69,7602 * 14 * 6 419
HE&8 = 12,022,000& * 11% 1,323
29| 28,262 31,223 N2,961
AFR 22| Hl 13,580 16,595 AN3,015
Oget+=gH| 13,580
— 912 M A O M 100,000& * 9& 900
—olEA SNTY 10,0008 « 42 « 128 480
- NMM4ARE 2 600,000& ~ 12& 7,200
-S&3 M 10,000& * 159 150




25 38

5
M SES AHAHH|
thel: =RDSEH A (SH9: &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
-S208 S 249 WA
55,000 * 5J4 = 63l 1,650
-ST2Y S HALE
50,000& * 4H x 63 1,200
-E22 Mz 500 « 1,0000H ~ 42| 2,000
02 232 H4| 12,882 12,828 54
OAl& ZHlI KX d| 6,000
- FAH Y FOXXAHE S K22l 6,000
OESIH(EH) XY 3,348
-2 (EH) SA22
17,940,909 * 8% 1,436
-ZEIN(EYH) 75U
1,147 = 15,000km/9km 1,912
ozExE(=X) |X 3,134
—ZEX(EXN) S22l
11,168,909& * 8% 894
—2EXNH(E2N) 25U
1,3442 * 15,000km/9km 2,240
OFALtE S 2! 100,000& = 4& 400
03 Al E H| 1,800 1,800 0
OJI0F2 S =M =H =24l 1,800
202 04d| 6,500 10,200 A 3,700
01 2L Y| 6,500 10,200 A 3,700
OLHdHNESSAL2=R0Hl 500,000 * 13H 6,500
203 €2 F=&d| 1,000 1,000 0
03 Al ZH =X 2= XH| 1,000 1,000 0
OANBEZ LR EAY| 1,000
204 &R AH| 1,200 1,200 0
03 EHY LA 1,200 1,200 0
ONSZ2R SHYR+ 8 &S|
100,000& * 1¥ = 128 1,200
307 2Iz2t0| A 20,000 0 20,000
04 SIZ2HSHAAISHE E & 20,000 0 20,000
O ANHZSHH 20,000
F0ESE M 152,280 147,560 4,720
301 LEtE M= 140,280 145,560 N5,280
05 S& -0 -t EsEAZ 137,280 142,560 N5,280
Os&s+Y 4 &=l 137,280
-S&E s 300,000& = 269¥ * 12&€ 93,600
-szsoEHaY
20,000& * 26Y¥ * 23| ~ 12& 12,480
- SdYEANS 300,000& * 26¥ x 23| 15,600




EX: g8s
M SES AHAHH|
thel: =RDSEH A (SH9: &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
- d&ESH| 50,000 = 269 * 12& 15,600
09 #HAIAHI XIS 2 3,000 3,000 0
OJIOF23 =M HAZHI E&2 3,000
302 Ol =L THAHE A =2 2,000 2,000 0
02 QIZoI LY =ERESE A= 2,000 2,000 0
OMHEREAHL BA2 2,000
307 gizto| A 10,000 0 10,000
04 QIZ2tSHALALS B = 10,000 0 10,000
O=x0lgg M=z 10,000
XSG RIIAS 51,070 50,934 136
NS RIALS 51,070 50,934 136
101 2121 4| 13,256 13,027 229
04 JIZtHIZ22XNSE S 13,256 13,027 229
OZ20 2HR(Z2EH) Z4&Y 2 (F0l
Z 04 0l AF) 69,760 * 1Y€ = & 52 * 128 4,186
O2HYEI MY Il =H =2
69,7608 * 102 * 43 2,791
OEZH M= & TAsEAG gl
69,7608 * 102 * 43 2,791
OZLXTHHH 2E2A 69,760& * 10¥ x 53] 3,488
201 gBt2A | 35,814 35,907 A 93
01 AL 22l 35,814 35,907 A93
OZ20 ZUQ(ZEH) £=2HI(Z2UEAHUAH) 35,814
-BU 20i2 BaE YLl
7,000& * 20000 * 143 19,600
-RBaH T8 2 Yl
450,0002! * 32 * 128 16,200
-=84l S 14
206 24 2,000 2,000 0
01 T2l 2,000 2,000 0
OZ2ZX4H MEH| 2,000
38ES AR FOEHAAS 20,000 0 20,000
AR FOIHCAY 20,000 0 20,000
AHE FOIHAAS 20,000 0 20,000
401 Al HI L 2 0HHI 20,000 0 20,000
01 A& H| 20,000 0 20,000
O38sS 958 USEIIN ¢ A28 &Y
13,000,000& = 1JH 2 13,000
Ogtdxssty REQ A28 HH|
7,000,000 * 100 7,000
HMSAAH (38 E) 87,948 99, 100 A 11,152




M ES

Y d¥2d3H(3ES)

e Jl=3l (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
23l 87,948 98,620 10,672

Jl=23dHl 87,948 98,620 210,672
201 B2 S 51,028 49,260 1,768
01 At 22l bl 27,390 26,480 910

Oget=gH| 12,000
-JIZ2AMFESHI 4,200
- JIEt==3Hl 4,800
- SA X 120,000& * 12& 1,440
-d=J gX= 85,000& » 12& 1,020
-=%2 8= = 540
OFMZe N2 7,880
- SBHIAIAE & CCTV2 el bl
250,000& * 12E 3,000
- AL Zat2te 29| 120,000& * 128 1,440
- AotSdII4d] 22U BEE+2
120,000& * 128 1,440
—ZA M3SAE=2 FIIAHHEH SS9
1,000,000 * 23| 2,000
ogas+d 30,000& = 13 * 128 360
Oo0f2t & SLZ 2L S4tl
550,000& = 13¥ 7,150
02 s3=9Hl 23,638 22,780 858
O=32= & HA 23,638
-RERSs 550,000& * 12E 6,600
- FANEIRS 800,000& * 12& 9,600
—dH=Zs0 dJIe3 130,000& * 123 1,560
—ZAM dot= AIER2= 150,000& * 128 1,800
-S$IMERG = 200,000& * 1%l 200
-ANE=S WESREFES 160,000& * 13/ 160
- 2SN (EH) HSXM 30,0008 * 18] 30
-2 (=X) A=xH 80,0008 * 13 80
-2ENB(EH) BEE 1,200
- 2SN (SA) 28R 600
-HE0EX 282 55,000& » 204 110
- HEMy SXNEs ANMEE S5R2=
85,000% = 104 ~ 12& 1,020
-SEE=EX ANERX SRS
50,000& » 12& 600
QY HdE 2 AEE
6,500& = 12& 78
202 O 4l 24,960 37,440 12,480
01 =LHO I 24,960 37,440 A12,480
OJl2geR=&0H  160,0008 * 13F » 128 24,960
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